Unit 16 Practice Problems

1) 36+.8= 2) 17.645 + 35.28 = 3) 35.63+ 474.6 + 2.762 =

4) Ann spent $24.79, $104.62, and $8.29 on
presents. What was her total spending?

5 1.7-8-= 6) 65.64-46.37 = 7) 88-2=

8) 4755-2.318 = 9) Bill earned $265.43 last
week but received only
$208.55 because taxes
were withheld. How much
was withheld for taxes?

10) 2.4 x .8 = 11) 5.8 x .46 = 12) 2.83 x .003 =

13) 2462 x 2.8= 14) Hamburger costs $1.79 per
pound. How much would
5.5 pounds of hamburger
cost?

Unit 16 answers are on page 238.
Unit 16 additional practice problems are on page 171.
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